2/12/2025 to 2/12/2025

West Shore School District

						Participant	s Approved							
School and Grade		Free		Reduced			Fi	ee and Reduce	t		Paid		Highest Eligible	Last Day*
Graue	Application	Direct Certification	Total	Application	Direct Certification	Total	Application	Direct Certification	Total	No Application	Denied	Total	Eligible	
Allen Middle School														
7th	0 (0.00%)	49 (34.03%)	49 (34.03%)	0 (0.00%)	1 (0.69%)	1 (0.69%)	0 (0.00%)	50 (34.72%)	50 (34.72%)	94 (65.28%)	0 (0.00%)	94 (65.28%)	144	144
8th	0 (0.00%)	46 (34.85%)	46 (34.85%)	0 (0.00%)	1 (0.76%)	1 (0.76%)	0 (0.00%)	47 (35.61%)	47 (35.61%)	85 (64.39%)	0 (0.00%)	85 (64.39%)	132	132
	0 (0.00%)	95 (34.42%)	95 (34.42%)	0 (0.00%)	2 (0.72%)	2 (0.72%)	0 (0.00%)	97 (35.14%)	97 (35.14%)	179 (64.86%)	0 (0.00%)	179 (64.86%)	276	276
Cedar Cliff High School														
9th	6 (1.97%)	121 (39.67%)	127 (41.64%)	0 (0.00%)	4 (1.31%)	4 (1.31%)	6 (1.97%)	125 (40.98%)	131 (42.95%)	174 (57.05%)	0 (0.00%)	174 (57.05%)	305	305
10th	4 (1.11%)	129 (35.73%)	133 (36.84%)	1 (0.28%)	6 (1.66%)	7 (1.94%)	5 (1.39%)	135 (37.40%)	140 (38.78%)	220 (60.94%)	1 (0.28%)	221 (61.22%)	361	361
11th	3 (0.92%)	101 (31.08%)	104 (32.00%)	0 (0.00%)	4 (1.23%)	4 (1.23%)	3 (0.92%)	105 (32.31%)	108 (33.23%)	217 (66.77%)	0 (0.00%)	217 (66.77%)	325	325
12th	4 (1.22%)	112 (34.04%)	116 (35.26%)	0 (0.00%)	1 (0.30%)	(0.30%)	4 (1.22%)	113 (34.35%)	117 (35.56%)	212 (64.44%)	0 (0.00%)	212 (64.44%)	329	329
	17 (1.29%)	463 (35.08%)	480 (36.36%)	1 (0.08%)	15 (1.14%)	16 (1.21%)	18 (1.36%)	478 (36.21%)	496 (37.58%)	823 (62.35%)	1 (0.08%)	824 (62.42%)	1320	1320
Crossroads Middle School														
7th	0 (0.00%)	69 (24.47%)	69 (24.47%)	0 (0.00%)	3 (1.06%)	3 (1.06%)	0 (0.00%)	72 (25.53%)	72 (25.53%)	209 (74.11%)	1 (0.35%)	210 (74.47%)	282	282
8th	1 (0.39%)	68 (26.36%)	69 (26.74%)	0 (0.00%)	5 (1.94%)	5 (1.94%)	1 (0.39%)	73 (28.29%)	74 (28.68%)	183 (70.93%)	1 (0.39%)	184 (71.32%)	258	258
	1 (0.19%)	137 (25.37%)	138 (25.56%)	0 (0.00%)	8 (1.48%)	8 (1.48%)	1 (0.19%)	145 (26.85%)	146 (27.04%)	392 (72.59%)	2 (0.37%)	394 (72.96%)	540	540
Fairview Intermediate School														

^{*} Number of enrolled students on the last day of the selected date range.



						Participant	s Approved							
School and Grade		Free			Reduced		Fi	ree and Reduce	d		Paid		Highest Eligible	Last Day*
Graue	Application	Direct Certification	Total	Application	Direct Certification	Total	Application	Direct Certification	Total	No Application	Denied	Total	Eligible	
5th	5 (1.42%)	131 (37.11%)	136 (38.53%)	1 (0.28%)	5 (1.42%)	6 (1.70%)	6 (1.70%)	136 (38.53%)	142 (40.23%)	210 (59.49%)	1 (0.28%)	211 (59.77%)	353	353
6th	1 (0.32%)	115 (36.28%)	116 (36.59%)	3 (0.95%)	4 (1.26%)	7 (2.21%)	4 (1.26%)	119 (37.54%)	123 (38.80%)	193 (60.88%)	1 (0.32%)	194 (61.20%)	317	317
	6 (0.90%)	246 (36.72%)	252 (37.61%)	4 (0.60%)	9 (1.34%)	13 (1.94%)	10 (1.49%)	255 (38.06%)	265 (39.55%)	403 (60.15%)	2 (0.30%)	405 (60.45%)	670	670
Fishing Creek Elementary														
Kindergarten	0 (0.00%)	24 (29.27%)	24 (29.27%)	0 (0.00%)	1 (1.22%)	1 (1.22%)	0 (0.00%)	25 (30.49%)	25 (30.49%)	56 (68.29%)	1 (1.22%)	57 (69.51%)	82	82
1st	0 (0.00%)	28 (32.56%)	28 (32.56%)	1 (1.16%)	1 (1.16%)	(2.33%)	1 (1.16%)	29 (33.72%)	30 (34.88%)	56 (65.12%)	0 (0.00%)	56 (65.12%)	86	86
2nd	0 (0.00%)	21 (24.71%)	21 (24.71%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	21 (24.71%)	21 (24.71%)	64 (75.29%)	0 (0.00%)	64 (75.29%)	85	85
3rd	0 (0.00%)	26 (26.53%)	26 (26.53%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	26 (26.53%)	26 (26.53%)	71 (72.45%)	1 (1.02%)	72 (73.47%)	98	98
4th	0 (0.00%)	25 (29.07%)	25 (29.07%)	0 (0.00%)	1 (1.16%)	1 (1.16%)	0 (0.00%)	26 (30.23%)	26 (30.23%)	60 (69.77%)	0 (0.00%)	60 (69.77%)	86	86
	0 (0.00%)	124 (28.38%)	124 (28.38%)	1 (0.23%)	3 (0.69%)	4 (0.92%)	1 (0.23%)	127 (29.06%)	128 (29.29%)	307 (70.25%)	2 (0.46%)	309 (70.71%)	437	437
Highland Elementary														
Kindergarten	2 (2.67%)	27 (36.00%)	29 (38.67%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	2 (2.67%)	27 (36.00%)	29 (38.67%)	46 (61.33%)	0 (0.00%)	46 (61.33%)	75	75
1st	0 (0.00%)	19 (30.16%)	19 (30.16%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	19 (30.16%)	19 (30.16%)	44 (69.84%)	0 (0.00%)	44 (69.84%)	63	63
2nd	0 (0.00%)	33 (41.77%)	33 (41.77%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	33 (41.77%)	33 (41.77%)	46 (58.23%)	0 (0.00%)	46 (58.23%)	79	79
3rd	0 (0.00%)	33 (41.25%)	33 (41.25%)	0 (0.00%)	1 (1.25%)	1 (1.25%)	0 (0.00%)	34 (42.50%)	34 (42.50%)	45 (56.25%)	1 (1.25%)	46 (57.50%)	80	80
4th	0 (0.00%)	21 (26.92%)	21 (26.92%)	1 (1.28%)	0 (0.00%)	1 (1.28%)	1 (1.28%)	21 (26.92%)	22 (28.21%)	56 (71.79%)	0 (0.00%)	56 (71.79%)	78	78
	2 (0.53%)	133 (35.47%)	135 (36.00%)	1 (0.27%)	1 (0.27%)	2 (0.53%)	3 (0.80%)	134 (35.73%)	137 (36.53%)	237 (63.20%)	1 (0.27%)	238 (63.47%)	375	375
Hillside Elementary														



						Participants	s Approved							
School and Grade	Free			Reduced			Fi	ee and Reduce	d		Paid		Highest	Last Day*
Grade	Application	Direct Certification	Total	Application	Direct Certification	Total	Application	Direct Certification	Total	No Application	Denied	Total	Eligible	,
Kindergarten	0 (0.00%)	27 (36.99%)	27 (36.99%)	0 (0.00%)	2 (2.74%)	2 (2.74%)	0 (0.00%)	29 (39.73%)	29 (39.73%)	43 (58.90%)	1 (1.37%)	44 (60.27%)	73	73
1st	1 (1.16%)	40 (46.51%)	41 (47.67%)	1 (1.16%)	0 (0.00%)	1 (1.16%)	2 (2.33%)	40 (46.51%)	42 (48.84%)	44 (51.16%)	0 (0.00%)	44 (51.16%)	86	86
2nd	1 (1.27%)	33 (41.77%)	34 (43.04%)	0 (0.00%)	2 (2.53%)	2 (2.53%)	1 (1.27%)	35 (44.30%)	36 (45.57%)	42 (53.16%)	1 (1.27%)	43 (54.43%)	79	79
3rd	1 (1.05%)	46 (48.42%)	47 (49.47%)	0 (0.00%)	5 (5.26%)	5 (5.26%)	1 (1.05%)	51 (53.68%)	52 (54.74%)	43 (45.26%)	0 (0.00%)	43 (45.26%)	95	95
4th	2 (2.11%)	39 (41.05%)	41 (43.16%)	0 (0.00%)	3 (3.16%)	3 (3.16%)	2 (2.11%)	42 (44.21%)	44 (46.32%)	51 (53.68%)	0 (0.00%)	51 (53.68%)	95	95
	5 (1.17%)	185 (43.22%)	190 (44.39%)	1 (0.23%)	12 (2.80%)	13 (3.04%)	6 (1.40%)	197 (46.03%)	203 (47.43%)	223 (52.10%)	2 (0.47%)	225 (52.57%)	428	428
New Cumberland Middle School														
7th	4 (1.98%)	76 (37.62%)	80 (39.60%)	1 (0.50%)	4 (1.98%)	5 (2.48%)	5 (2.48%)	80 (39.60%)	85 (42.08%)	117 (57.92%)	0 (0.00%)	117 (57.92%)	202	202
8th	1 (0.54%)	82 (44.09%)	83 (44.62%)	1 (0.54%)	3 (1.61%)	4 (2.15%)	2 (1.08%)	85 (45.70%)	87 (46.77%)	99 (53.23%)	0 (0.00%)	99 (53.23%)	186	186
	5 (1.29%)	158 (40.72%)	163 (42.01%)	2 (0.52%)	7 (1.80%)	9 (2.32%)	7 (1.80%)	165 (42.53%)	172 (44.33%)	216 (55.67%)	0 (0.00%)	216 (55.67%)	388	388
Newberry Elementary														
Kindergarten	0 (0.00%)	17 (33.33%)	17 (33.33%)	0 (0.00%)	1 (1.96%)	1 (1.96%)	0 (0.00%)	18 (35.29%)	18 (35.29%)	33 (64.71%)	0 (0.00%)	33 (64.71%)	51	51
1st	0 (0.00%)	21 (36.84%)	21 (36.84%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	21 (36.84%)	21 (36.84%)	36 (63.16%)	0 (0.00%)	36 (63.16%)	57	57
2nd	1 (1.41%)	23 (32.39%)	24 (33.80%)	0 (0.00%)	1 (1.41%)	1 (1.41%)	1 (1.41%)	24 (33.80%)	25 (35.21%)	45 (63.38%)	1 (1.41%)	46 (64.79%)	71	71
3rd	0 (0.00%)	22 (40.00%)	22 (40.00%)	0 (0.00%)	1 (1.82%)	1 (1.82%)	0 (0.00%)	23 (41.82%)	23 (41.82%)	32 (58.18%)	0 (0.00%)	32 (58.18%)	55	55
4th	1 (1.75%)	21 (36.84%)	22 (38.60%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	1 (1.75%)	21 (36.84%)	22 (38.60%)	34 (59.65%)	1 (1.75%)	35 (61.40%)	57	57
5th	0 (0.00%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	1 (100.00%)	0 (0.00%)	1 (100.00%)	1	1

 $[\]ensuremath{^{\pmb{\ast}}}$ Number of enrolled students on the last day of the selected date range.



						Participant	s Approved							
School and Grade					Reduced		Fi	ee and Reduced	ı		Paid		Highest Eligible	Last Day*
Grade	Application	Direct Certification	Total	Application	Direct Certification	Total	Application	Direct Certification	Total	No Application	Denied	Total	Eligible	,
	2 (0.68%)	104 (35.62%)	106 (36.30%)	0 (0.00%)	3 (1.03%)	3 (1.03%)	2 (0.68%)	107 (36.64%)	109 (37.33%)	181 (61.99%)	2 (0.68%)	183 (62.67%)	292	292
Old Trail Intermediate School														
5th	0 (0.00%)	81 (29.24%)	81 (29.24%)	1 (0.36%)	1 (0.36%)	2 (0.72%)	1 (0.36%)	82 (29.60%)	83 (29.96%)	194 (70.04%)	0 (0.00%)	194 (70.04%)	277	277
6th	1 (0.42%)	78 (32.50%)	79 (32.92%)	3 (1.25%)	0 (0.00%)	3 (1.25%)	4 (1.67%)	78 (32.50%)	82 (34.17%)	158 (65.83%)	0 (0.00%)	158 (65.83%)	240	240
	1 (0.19%)	159 (30.75%)	160 (30.95%)	4 (0.77%)	1 (0.19%)	5 (0.97%)	5 (0.97%)	160 (30.95%)	165 (31.91%)	352 (68.09%)	0 (0.00%)	352 (68.09%)	517	517
Red Land High School														
9th	1 (0.37%)	82 (30.71%)	83 (31.09%)	2 (0.75%)	2 (0.75%)	4 (1.50%)	3 (1.12%)	84 (31.46%)	87 (32.58%)	180 (67.42%)	0 (0.00%)	180 (67.42%)	267	267
10th	1 (0.38%)	63 (23.95%)	64 (24.33%)	0 (0.00%)	3 (1.14%)	3 (1.14%)	1 (0.38%)	66 (25.10%)	67 (25.48%)	194 (73.76%)	2 (0.76%)	196 (74.52%)	263	263
11th	1 (0.38%)	59 (22.35%)	60 (22.73%)	1 (0.38%)	2 (0.76%)	3 (1.14%)	(0.76%)	61 (23.11%)	63 (23.86%)	200 (75.76%)	1 (0.38%)	201 (76.14%)	264	264
12th	1 (0.40%)	74 (29.37%)	75 (29.76%)	0 (0.00%)	3 (1.19%)	3 (1.19%)	1 (0.40%)	77 (30.56%)	78 (30.95%)	174 (69.05%)	0 (0.00%)	174 (69.05%)	252	252
	4 (0.38%)	278 (26.58%)	282 (26.96%)	3 (0.29%)	10 (0.96%)	13 (1.24%)	7 (0.67%)	288 (27.53%)	295 (28.20%)	748 (71.51%)	3 (0.29%)	751 (71.80%)	1046	1046
Red Mill Elementary														
Kindergarten	(0.00%)	31 (40.79%)	31 (40.79%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	31 (40.79%)	31 (40.79%)	45 (59.21%)	0 (0.00%)	45 (59.21%)	76	76
1st	0 (0.00%)	29 (32.58%)	29 (32.58%)	1 (1.12%)	0 (0.00%)	1 (1.12%)	1 (1.12%)	29 (32.58%)	30 (33.71%)	59 (66.29%)	0 (0.00%)	59 (66.29%)	89	89
2nd	0 (0.00%)	25 (28.09%)	25 (28.09%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	25 (28.09%)	25 (28.09%)	64 (71.91%)	0 (0.00%)	64 (71.91%)	89	89
3rd	3 (2.65%)	30 (26.55%)	33 (29.20%)	0 (0.00%)	1 (0.88%)	1 (0.88%)	3 (2.65%)	31 (27.43%)	34 (30.09%)	79 (69.91%)	0 (0.00%)	79 (69.91%)	113	113
4th	0 (0.00%)	30 (31.58%)	30 (31.58%)	0 (0.00%)	1 (1.05%)	1 (1.05%)	0 (0.00%)	31 (32.63%)	31 (32.63%)	64 (67.37%)	0 (0.00%)	64 (67.37%)	95	95
	3 (0.65%)	145 (31.39%)	148 (32.03%)	1 (0.22%)	2 (0.43%)	3 (0.65%)	4 (0.87%)	147 (31.82%)	151 (32.68%)	311 (67.32%)	0 (0.00%)	311 (67.32%)	462	462

^{*} Number of enrolled students on the last day of the selected date range.



						Participant	s Approved							
School and Grade		Free			Reduced			ee and Reduce	d		Paid		Highest Eligible	Last Day*
Grade	Application	Direct Certification	Total	Application	Direct Certification	Total	Application	Direct Certification	Total	No Application	Denied	Total	Eligible	,
Rossmoyne Elementary														
Kindergarten	1 (1.19%)	39 (46.43%)	40 (47.62%)	0 (0.00%)	1 (1.19%)	1 (1.19%)	1 (1.19%)	40 (47.62%)	41 (48.81%)	43 (51.19%)	0 (0.00%)	43 (51.19%)	84	84
1st	0 (0.00%)	23 (31.51%)	23 (31.51%)	1 (1.37%)	2 (2.74%)	3 (4.11%)	1 (1.37%)	25 (34.25%)	26 (35.62%)	46 (63.01%)	1 (1.37%)	47 (64.38%)	73	73
2nd	1 (0.99%)	41 (40.59%)	42 (41.58%)	0 (0.00%)	2 (1.98%)	2 (1.98%)	1 (0.99%)	43 (42.57%)	44 (43.56%)	57 (56.44%)	0 (0.00%)	57 (56.44%)	101	101
3rd	0 (0.00%)	36 (39.13%)	36 (39.13%)	0 (0.00%)	2 (2.17%)	2 (2.17%)	0 (0.00%)	38 (41.30%)	38 (41.30%)	54 (58.70%)	0 (0.00%)	54 (58.70%)	92	92
4th	0 (0.00%)	26 (31.33%)	26 (31.33%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	26 (31.33%)	26 (31.33%)	57 (68.67%)	0 (0.00%)	57 (68.67%)	83	83
	2 (0.46%)	165 (38.11%)	167 (38.57%)	1 (0.23%)	7 (1.62%)	8 (1.85%)	3 (0.69%)	172 (39.72%)	175 (40.42%)	257 (59.35%)	1 (0.23%)	258 (59.58%)	433	433
Washington Heights Elementary														
Kindergarten	0 (0.00%)	24 (43.64%)	24 (43.64%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	24 (43.64%)	24 (43.64%)	31 (56.36%)	0 (0.00%)	31 (56.36%)	55	55
1st	0 (0.00%)	36 (48.00%)	36 (48.00%)	0 (0.00%)	2 (2.67%)	2 (2.67%)	0 (0.00%)	38 (50.67%)	38 (50.67%)	37 (49.33%)	0 (0.00%)	37 (49.33%)	75	75
2nd	0 (0.00%)	34 (50.00%)	34 (50.00%)	0 (0.00%)	2 (2.94%)	2 (2.94%)	0 (0.00%)	36 (52.94%)	36 (52.94%)	32 (47.06%)	0 (0.00%)	32 (47.06%)	68	68
3rd	0 (0.00%)	26 (41.27%)	26 (41.27%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	0 (0.00%)	26 (41.27%)	26 (41.27%)	37 (58.73%)	0 (0.00%)	37 (58.73%)	63	63
4th	0 (0.00%)	34 (47.89%)	34 (47.89%)	0 (0.00%)	1 (1.41%)	1 (1.41%)	0 (0.00%)	35 (49.30%)	35 (49.30%)	36 (50.70%)	0 (0.00%)	36 (50.70%)	71	71
	0 (0.00%)	154 (46.39%)	154 (46.39%)	0 (0.00%)	5 (1.51%)	5 (1.51%)	0 (0.00%)	159 (47.89%)	159 (47.89%)	173 (52.11%)	0 (0.00%)	173 (52.11%)	332	332
Total	48 (0.64%)	2546 (33.87%)	2594 (34.51%)	19 (0.25%)	85 (1.13%)	104 (1.38%)	67 (0.89%)	2631 (35.01%)	2698 (35.90%)	48 02 (99.67%)	16 (0.33%)	4818 (64.10%)	7516	7516

^{*} Number of enrolled students on the last day of the selected date range.

FILTERS

Name(s)	Value(s)
FILTERS	
Name(s)	Value(s)
Building Groups	(Cedar Cliff High School, Red Land High School, Allen Middle School, Crossroads Middle School, New Cumberland Middle School, Fairview Elementary, Fishing Creek Elementary, Highland Elementary, Hillside Elementary, Newberry Elementary, Red Mill Elementary, Rossmoyne Elementary, Washington Heights Elementary, Fairview Intermediate School, Old Trail Intermediate School)
Eligibility Date Range	(Start = 2/12/2025, End = 2/12/2025)
Grade Levels	(12th, 11th, 10th, 9th, 8th, 7th, 6th, 5th, 4th, 3rd, 2nd, 1st, Kindergarten)